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Jor the questions

Answer either in English or in Assamese

1. Fill in the blanks/Answer the following : 1x7=7
oo TP 4@t o7 o8 91/ T fg

(a) is the most frequently occurring
score in a distribution.

1 Remme T ERe @@ AR
s i
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(2)

(b) Mid-value of the distance between 25th
percentile and 75th percentile is known
as

3¢®Y o R qE aes] Ao [ ey
VA TR et &l T |

(c) The curve that is more peaked than
normal probability curve is a
curve.

ST TFSCT THF (T8 TF (2B @ |

(d) When increase and decrease of two
variables tend to move together in the
same direction, then the correlation
between the variables is called
correlation.

afeq o1 R IPPHE FP-IE T
30 frere oS wE, cofen e R e
LSRR SRR o1 (P = |

{e) Find the combined mean of two samples
of sizes 6 and 4 respectively, whose
means are 15 and 25.

T 6 WE 4 YIRS SE 15 WE 25 IS
751 e S 18 AT 4

( Continued )

(g)

(%)

Write Karl Pearson’s formula for finding
out coefficient of correlation.

1 Prooae S @ FefTa S[aeet fora |

In a normal distribution mean = 45. Find
out the value of median and mode.

O FERT Foedq % = 45. WE T A
IS e 9 |

2. Answer the following questions : 2x%4=8

e ped Ted fordl

(@)

(b)

()
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What is an ogive? How does it differ from
a cumulative frequency curve? 1+1=2

wfe o el IEEEe 9 Rl 2 e
42 7

Write two advantages of central tendency. 2

@R 22eTer 7o kAl |

What is meant by percentile rank?
Explain with example. 1#1=2

o1 B gfeica o6 e 7 TREEerTR e 4 |
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What is range? Mention two uses of

range as measure of variability. 1+1=2

oprr R0 Rpfen cay fRomet 2P 01 /92
TR 90

3. Answer any three of the following questions :

5x3=15

wor 2 i e fefbr e o :

(@)

(b)

A7/98

What is a frequency distribution? Point
out its two uses. Explain the process of
preparing a frequency distribution table
indicating the choices of the number of
classes and width of class interval.

1+2+2=5

TRl frere 7 T qh TR T 39
o SEAER R WE G SEEEs @i
e TEd SR JREEel Rewm e
e dfe e 11

Explain the skewness of a distribution on
the basis of the relationship between
mean, median and mode. Find skewness,
if Mean = 25, Median = 45 and 8D (o) = 8.

3+0=5

G4 SR [REger o8, T SR ALTFT 1o
seord Tofe 2mm <91 | 3 918 = 25, TN =45
%% SD (o) = 8 20, Rawe f 941 |

( Continued )

(c)

(d)

(e)
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“Central tendency should be accompanied
by a measure of variability, for significant
interpretation.” Discuss the statement
with example.

glesey AR 0T CFEW 2ATOR (A
aoe Rpfes (e gemee 1”7 @R P
TAERPTR F901 41

What is a normal probability curve?
State the distinctive features of this
curve.

2T T 16 2 TR ey TR TeEy 390 |

Mention three properties of mean as a
measure of central tendency. In a
distribution AM =37, Zfx’ =28, N =50
and i=5. Find out mean of the

distribution. 3+2=5

@Y sRUed (w4 o s fefl
gf SEy 9| 9 ReE|w  AM = 37,
Sfic’ =28, N =50 oF i=5. @3 oy 5o
feefg =1 |
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4. Explain the usability of median as a measure

of central tendency. Find out median from the

following distribution table :

4+6=10

@Y 2FeeE (e B NamE Teferer Q< =4 |

woq frerem Oifer g™ =/ T4 e 10

Class Interval‘ Frequency

) ST SRR
65-69 1
60-64 1
55-59 3
50-54 4
45-49 6
40-44 7
35-39 12
30-34 6
25-29 8
20-24 2
N =50

A7/98
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(7)

Or / 911

What is histogram? Draw a histogram

and a frequency polygon on the same

axis from the following distribution table :

2#4+4=10

sRefby 7 i Rowm ofeR @ 9@
SPHEEYCS @O WISy WE 95 JEEREl I2gE

TR 90

Class Interval

@t =B
50-54
45-49
40-44
35-39
30-34
25-29

20-24

A7/98

Frequency
JEFTE

N =35
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( 8) (9)
5. What is standard deviation? Mention two Or / =331
merits of standard deviation. Compute . J .1
standard  deviation of the following Ten competitors in a essay competition are
diaEliian - 14247=10 ranked by three judges in the following order :
e Rpfe &2 I Rpfes 1o R Smy < 3 5+ fecaIaTere mREw dferae fefe A
were frl 49T 2 fifee
e [ReTams T Rpfe fefd <4 -
IstJudge : 1 5 4 8 9 6 10 7 3 2
Class Interval Frequency (215 R57)
1 S=EE FFITS! 2ndJudge . 4 8 7 6 5 9 10 3 2 1
90-94 4 (15915, I<er)
. SrdJudge : 6 7 8 1 5 10 9 2 3 4
85-89 (57 fisree)
80-84 B Use the rank-correlation coefficient to discuss
7579 10 ) which pair of judges has nearest approach in
their judgement. 6+4=10
70-74 12
¥ LTI QN A FRE (I 7EA [451999 Tere
65-69 8 S e o, WERT 40 0
60-64 4
- 5 6. What is the relationship between percentile
point and percentile rank? Calculate P,5 and
50-54 6 P;s from the distribution below. Find out
gy quartile deviation from these values :
4 2+3+3+2=10
A7/98 ( Continued ) A7/98 { Turn Quer )




( 10 ) | | (11 )

*@?‘Tﬁ“iwwwwmﬁw%%?w Feifes Rorege Bl ARFR TR oS (T
‘”@EQ‘WW%WPHWW:QWW 75 s wd fpfe ter 15, I @i
594 [pifs fMefg <1 @Y 10% A (IS &S I(4 HF GIFANI TF
25% % F © I (0T A IS e
Ll Frequengy ' wf@mmﬂmwmh T W\v 2’92 s
T ST I '
80-89 4 (b) A student secures 72 marks in an

examination in sociology for which his
class mean is 54 and standard deviation
60-69 ¥ is 20. He secures 76 marks in statistics
for which his class mean is 50 and

70-79 2

50-59 11
e standard deviation is 12. What can we
° ut say about the performance of the
30-39 6 student with reference to these two
S 5 _
20-09 g examinations: 2+2+1=5
10-19 3 IS B[R SHGEAEEE SR 72 TE9 R
i - ' : T'e @TT e w5 WfeE 54 wF e [pfe
wifew 20. (¢ ARy Reme 751 ~kfeE 76
A | e @fiT o TR Wk 50 we WAe [pfe
v/ ST wifkel 12. €3 YD AREE DT TEEE
FeEe R AT ?
(a and b both) e o & w9 7
(@™ b 7eaTN)
* ok Kk

(@) A set of examination marks is normally
distributed with a mean of 75 and
standard deviation of 15. If top 10%
students get grade A and bottom 25% get
grade F, then what mark is the lowest A
and what mark is the highest F, 2+3=5
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